5

@

n
D
D

(%)

Bp°UILBG-NY'1]10]00//:A1L 10 Bp°UILBG-NY' 30 4//:dNIUOIBWLIoNI [ED1UYDD)
wiy'siebep Ul eg-Ny a0kl d1ales ajoym ayi Jo sajlj Je

T S 2 i
-:l http:/farbe.li.tu-berlin.de/ger9/ger9l0n1.txt /.ps only vector graphic VG; start output
N see separate images of this pagg:://farbe.li.tu-berlin.de/ger9/ger9.htm

@)

J Colour management for output linearization of a 9 step grey scale
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Three, 5 and 9 colour steps for visual evaluation BlBACK 00w BIBECK NLG)
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B-test chart ger9; This is an example text for many applications
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